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answer sheet. Any Missing Data can be Suitably Assumed.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1.  Why energy is an essential part of human hfe'?

2. How can we fix energy cms}s‘?
3. What is the difference b’etween conventional' and nonconventional sources?
4.

What 1s the combustion efficlency of ﬂuldlzed bed?
5. How does the darrieus rofor Work‘? i ' _' :

6.  What is geothermal energy and how does 1t work‘?
7. How does biomass energy WorL?_._ o

8. Define biocrude. | |

9.  Why energy conservation is lmportant'? AR

10. What is meant by energy pelfoz mance‘7




SART B — (6 x 12 = 65 marks)

11, (a} * Discuss in- detail about various forms of energy with its commeon units.

(13)

Or

(b)_' ._::.:Explam m d_etaﬂ about Indian Energy Scenario in terms of Energy

| supp}y and consumptwn (13)

. A'. steam power statlon spends Rs. 30 lakhs per annum for coal used in

@
C he' statmn The coal has A calorific value of 5000 kcal/kg and costs Rs.

"-'300 per_ ton If the statlon has thermal efficiency of 33% and electrical
'fﬁcmﬁcy of 9() ,6, ﬁnd the average load on the station. (13)

b). Drawand éxpléiﬁ'the operation of a modern steam power station.  (13)

v a‘.'ﬁeat-_dés'cripti.' n note on Energy conservation Ac%, 9001, (13)

71066 -




PART C — (1 X 15 = la marks)

16. (a) What is meant by Enerov Plantatmn'? What are its features and-

significance? R (15) -
(b)  Considering the data given below, find out the output power of a module
operating to achieve maximum power point (15)

()  typical maximum power at ISTC.:=' 8TW
(i) NOCT-4g°C .

(1)) Power output coefficiehf'0.'38'%'{:_"

(iv} Ambient temperatur'e% 35_°:C.'_

(v)  Irradiance = 865 w/m?2.




